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2
. Let f(x)= X"+ then f(:2) =
X
-4 -7 : .
(A) S {B) 5 {C]T (D) -8 (E) none of these
3, fing 2% ‘1‘!}"5"'} (fast!=
(R T
(A)Y5x  (B)lOx (C) 5x° (D)10x + 5h (E) none of these
3. Ioy= ::L:s:-';;- - 5in"%,

then y'=

(A0 (Bicosx (Cisinx (D)-4 Rin%f_'ttlsé (E}-sin x

y ™
4.1f f(x) = 2sin3 + Bcos>., then r[%] -

342 s
3 (D) 342 {E) u_j

(A) 542 (B) -32 (C)

5.1f f{x)={2x+1)", then the 4™ derivative of f(x) atx=01s

(A0  (B)24 (C) 48 (D) 240 (E) 384

6. If v=——, then —= =
¥ 443 ax



. . Gx
(4 +.::’]‘ {4+.r'} {4 +.r3}1

-3 3
D) - E) —
(D) o) (B) —

(A)—= (B)—2_ (©)

7.4t f(xy=x,then f{5=

@Wo ®: ©@1 o5  ®

8. The function defined by f(x)=x" - 3x* for all real numbers, x has a relative

maximum at X =
(A)-2 (By0 (C) 1 (D) 2 (E) 4

9, If% =cos(2x), then y =

1 1 .
(A) —tos(2x) +e (B) —5cos*(2x) +e (C) ',i-ﬂiﬂ{?-ﬂi'-'-‘
oy ) ! i
(D) Emn'{’lx}—c‘ (E) —oeos(lr)+o
Answers:
Multiple Choice !

l.e 2.b 3.¢ 4.¢ 5e 6a 7.¢ Bb 9.c

Free Response:

1. a) t=35; b} velocity = 50ft/sec. speed = 50f/sec, acceleration = 0ft/ s%; ¢) D<t < d

d} (3, 6)

2 a) Bx4 b) 4xcos(2x” +1); ¢ §+iz—£3
2 x x

Ja)v=-600+12t; bla=-120+12; c)-4; d)-18: e) I8, [)-24; g) speeding up; h) left

4.a)-10x%5 b))y =-10x7 +¢; c)w=-10x" + 11

5. ;-—5=%{x—1}

&

. check with other students



